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Note : (i) There are in all 17 questions in this question paper. All questions are
compulsory.

(ii) Question No. 1 is multiple choice type. Question No.2 to 6 are definite
answer type questions. Question No.7 to 11 are very short answer
type questions. Question No. 12 to 14 are short answer type questions
and Question No. 15 to 17 are long answer type questions.

(iii) Marks allotted to each question are mentioned against them.

ag fawedia v

(Multiple Choice Type Questions)

1. 39 Y & IU® @8 & IR A IR fawey & e 1 7 fodea 3o+t TR gRaasr
ferRae:

Four options are given in each part of this question. Write the correct option in

your answer book.
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(b)

a1t @ fawiia 97 & - 1
The dimensional formula of energy is -

(i) MLT2 (i) ML2T-2 (ii) LT? (iv)  LT=2

FOTICH® aRUT 31JdT & BT D 8lal & - 1

(i) ¥rex (i) Hex-APUs (iii) He=/ABUS (iv) Hlex/APpUus?
The unit of negative acceleration or retardation is -
(i) Meter (ii)) Meter-second (iii) Meter/second (iv) Meter/second?

fRR a7 § fowH e axg T ROT € - 1
(i) T (i) EATHD (iii) ZROTTHD (iv) 3=

The acceleration of an object moving at constant velocity is -

¢i) + zero (i) positive (iii) negative (iv) infinity

31adel auuT gRT MiHa gfifar g & - 1
(i) g aRdid® (i) Had UM

(iii) 3MYRT d aNfdd Ml &l Fdd &l (iv) FT9 9 IS a1
The image formation by a concave mirror is -

(i) always real (i) always virtual
(iii) can be both real and virtual (iv) none of these

gferrer R & fodll IR & e & U aRTaR U1 § HIeT STl 21 39 gobel ol
UTedehH H FAISId R ad 7| Tfc FHIAGH Bl Ho UeRIeT R' & aF R/R' 31U T
= & - 1
A piece of wire of resistance R is cut into five equal parts. These parts are
then connected in parallel. If the equivalance resistance of this combination
is R', then the ratio of R/R' is -

(i) % (i) é (iNs+5 giv) 25
ifRaa T wea
(Definite Answer Type Questions)
2. YT & FeaHis BT g faRkad | 1

Write the formula for least count of a Screw Gauge.

3. U adE &1 99 fakae| 1
Write the unit of surface tension.
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JTUE B! Hela I Bl 4 fafae| 1

Write the formula for orbital speed of satellite.

RcveH fst o wgem Rerf foafae| 1
Write the balancing condition of the Wheatstone bridge.
A SUT Y ashell fBrear fope= gt 27 1
What is the radius of curvature of a plane mirror?

sifcr o1 T v

(Very Short Answer Type Questions)
fe5¥it iU U= 7N AT 5N & 961 B IR I &1 RO 967 BT =gaH A T gne

2
Forces of 7N and 5N are acting.on a body. What will be the minimum value of
resultant force?

'THIT aY’ fbd Bed &° U Horer 9y # fham Hiex dia €2 2
What is 'light year'? How many meters are there in a light year?
Tt feraor 3R famren afaeror # &) sr<R feRar| 2

Write two difference between constructive interference and destructive
interference.

T 37eTTeT TieRIES & FRRI | 12V & §e) B HallfoTd a3 R R & 2.5 mAa%r%ga
&R YaTted aidil & JieRTerd &1 aferier uRasfera sifsTe|

When a 12V battery is connected across an unknown resistor, there is current
of 2.5 mA in the circuit. Find the value of resistance of the resistor.

T B JeAT FHBIOT v2=u2+2as B g il 2
Prove the third equation of motion v?=u?+2as.
oY TR 7

(Short Answer Type Questions)

gl b AR IGYST Bl ¥ [(TRIT| 36! TErIdT 3 &1 §ali &b URUTH! I BT TRAT0T
g faen sma S| 4
Write the law of parallelogram of forces. With its help, find the magnitude and
direction of the resultant force of two forces.

o ACSON o o C (AW
MbeT §I$SIHICY DI T HIgd dulH dIlolt | 4
Describe the Nicholson Hydrometer with a diagram.
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14, ‘30ar g &7 § o 3R &7 31N U8 & o & 31a9as 9 foae| 4
What is the difference between 'hail' and 'snow'? Write two necessary conditions
for dew to occur.

31[di/OR

A o g e & feami o v IeR @ 9T & SHesd |

How do farmers get benifit from weather forecast? Describe.

< 3T v

(Long Answer Type Questions)

15. UTcT 3 USdl &7 SUdT By IR a7 THIT 8T &7 BHa! &Y Tet F §a & fo1e fob areri
P YT BT TAMEC . 6

How does hoar frost occur? What is its effect on Agriculture? Which means

should be used to protect crops from hoar frost?

16. 37aAc QUUT 2T 3T GUUT o & 3UTNT ffgU| 15 cm BIdbd g3l & fob<l et auur |
@IS fo 10 cm O R 3@ 8| vifow & Refar aen ugshar sid sifsel 6
Write the main uses of concave mirror and convex mirror. An object is placed at
a distance of 10 cm from a convex mirror of focal length 15 cm. Find the
position and nature of the image.

17. TOeid Id b dad 22 AN Juied I & I 9UT 399 8 dell 9T
aiffepant faRae| : 6

What is accumulator cell? Write the structure of lead accumulator cell and the

chemical reactions taking place on it.
'312[d1/OR

Hiex A DI T ¥ fobel aR a7 faferee wfeRier foss wer tmqlawdodl%‘? gRuer
BN TETIAT § FHHATSC

How can the specific resistance of a wire be determined with the help of a meter

bridge? Explain with the help of circuit.

% % %k Xk Xk
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